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The person who stated that ‘development refers to quantitative
and qualitative changes’

1. Anderson
2. Craig

3. Gesell

4. Hurlock
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“Raju being gifted a voice by his parents and grown into a
singer through training” the principle of development involved
in this

1. Developments are Interdependent

2. Development is a continuous process

3. Development is the product of interaction
4. Development is predictable
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This stage is suitable for learning loco motor skills

l. Infancy
2. Early childhood
3. Adolescence

4, Late childhood
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This person stated that ‘knowledge is constructed through
experiences’

1. Piaget

2. Watson

3. Skinner

4. Kohlberg
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Kohlberg’s stage of moral development where ‘behaviour is
aimed at obtaining rewards’

1.

2.
3.
4

1% stage
2" stage
3" stage
4™ stage
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Example for verbal test

1.
2.
3.
4.

Otis Mental Ability Test
Army Beta Test
Bhatia Performance test of Intelligence

Draw-a-Person Test
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The stage of creative process in which organisation and
reorganization are done is

1. Latency stage

2. Insightful stage

3. Proving stage

4. Preparatory stage

SgERETes, DIESGIRECE (HEAbes BOR VTS
D&% &¥

L 0% ¥

2. ©oS858 8
3. Jurwes oF
4. DTPTE ¥

Among the following this is not subtest of Differential
Aptitude Test

1. Spatial relations

2 Mechanical reasoning

3. Memory ability

4. Numerical ability
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The shape of blots in Rorschach Ink blot test

1.
2.
3.
4.

Symmetry
Rectangle
Square

Triangle
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“As there is no choice a daughter in - law who is a vegetarian
had to inculcate the habit of taking non-vegetarian in mother-
in-laws house” it related to this defense mechanism

1.
2.
3.
4.

Internalization
Compensation
Identification

Reaction formation
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12.

“Learning is a relatively permanent change in behaviour that
occurs as a result of reinforcement and practice” is defined by

1.
2.
3.
4.

Hilgard
Gates
Herjanhan

Dececco & Crawford
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A person who learned to drive a car sitting on the right side,
can drive a car sitting on the left side is

1.
2.
3.
4.

Zero transfer
Positive transfer
Negative transfer

Bilateral transfer
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A student first learned French and then learned English. While
trying to recall French words during an exam, instead of
French words, English words are coming into his mind. This

due to
1.
2.
3.
4,

Repression
Proactive Inhibition
Amnesia

Retroactive Inhibition
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The second step in the process of memorization

1
2.
3.
4

Retention
Recognition
Recall

Learning
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Learning concepts through performing activities or
experiments is

1. Long term memory
2. Passive memory

3. Logical memory

4. Active memory
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The background scene behind the figure is
1. Ground

2. Concept
3. Cognition
4. Perception
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Author of the book ‘The work of Digestive Glands’ is

1.
2.
3.
4.

Pavlov
Skinner
Thorndike
Watson
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A student independently reading a story from a book for his
personal satisfaction is

1.

Intrinsic motivation

2. Achievement motivation

3. Extrinsic motivation

4. Artificial motivation
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Using a conditioned stimulus, which was initially used to
establish conditioning, as an unconditioned stimulus is

1. Law of Generalization
2. Law of Discrimination
3. Law of Reinforcement
4. Higher order conditioning
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“Fruitful teaching is possible for any concept, to anybody and
at any developmental stage” was stated by

1. Bruner

2. Vygotsky
3. Bandura
4. Kohler

"D 0030 BwE) 1w IFFOTS, ) SAHW) FEF, G
2.8 008" SROWSE).” @ DEYHTH

L (eSS
2. gméigozr
3. 200L5°0P
4.  §ab



21.

22.

To know that what extent the students understand the concept
and constructed knowledge through continuous comprehensive
assessment as per ‘SE’ learning model

1. Elaborate

2. Evaluation
3. Engage
4. Explain
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Expand ‘ZPD’

‘ZPD’ oS

1 Zone of primary Division

2 Zone of Primary Development
3. Zone of Proximal Development
4 Zone of Proximal Division



The author of the book ‘Process of Education’

1. Vygotsky
2. Piaget

3. Frobel

4. Bruner

‘Process of Education’ (K08 &5oxes
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This National Educational Policy started “Operation Black
Board”.
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1 NEP-1968
2. NPE-1986
3. NEP-1998
4 NEP-2020

‘Dysphasia’ belongs to

l. Oral-language skill

2. Writing skill

3. Arithmetic skill

4. Reading skill
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According to RTE-2009, this section states that children
means boys and girls between 6-14 years of age

1. Section - 01
2. Section - 04
3. Section - 06
4. Section - 02
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1. MHRD
2. NCERT
3. CABE
4. NCTE
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One of the following is not a computer virus

1.
2.
3.
4.

Trojan Horse
Time Bomb
Coral draw
Code Red
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‘Dream weaver’ is related to the following software

1.
2.
3.
4.

Web designing
Graphics designing
Video designing
Audio designing
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30.

One of the following is not an aim of ‘PARAKH’ programme
by NEP-2020

1.

2.
3.
4

Providing Infrastructure
doing Achievement survey
Changes & reforms in the examination system

Organizations and professional strengthening by
bringing changes in Measurement system
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62.

63.

64.

He looked utterly down cast as I shifted to my seat in the last
TOW.
Choose the synonym of the word ‘downcast’

1. Conveyed
2 Depressed
3. Reformed
4

Summoned

The design was distinct, setting it apart from all others.

Select the antonym of ‘distinct’ in the sentence.

1. Unique
2. Clear

3. Obscure
4 Defined

The following is NOT a meaning of ‘turn up!’

l. to appear

2 to increase the volume
3. to decrease

4 to be present

Identify the correct use of comma in a large number:
1. 64,35

2 6,4,35
3. 643,5
4 6,435
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67.

68.

___ the recent changes, we need to adapt our strategy
Choose the correct preposition that fits the blank.

1. In spite of

2 In view of

3. In place of
4

In exchange for

The policy is _ company regulations.
Choose the preposition that fits the blank.
1. in line with

2 in back of

3. in place of

4 in light of

Identify the interrogative form of the present perfect
continuous tense

1. Was / were + subject + verb + ing?

2 Will + subject + base form of the verb?

3. Do / does + subject + base form of the verb?
4 Have / has + subject + been + verb + ing?

Choose the statement that correctly uses the present perfect
tense.

1. They will arrive now.

2 He has finished his homework.
3. I was playing football.
4

They are painting a wall.
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72.

Identify the reason why consistency is important in
alphabetical ordering within a dictionary.

1. It ensures that the dictionary is colourful and attractive
2 It allows users to look up words in a standard way

3. It enables the dictionary to feature more entries

4 It helps in creating new dictionary editions

Select the poetic sentence:

1. Where did you buy this book?

2 I am very hungry.

3. Please give me your pen.

4 The stars in the sky twinkled like diamonds.

Identify the grammatically correct sentence:

1. The team had amicable.
2 The teams were amiable.
3. The teams was amicable.
4 The teams was amiable.

One of the following is NOT an imperative sentence:
1. Clean your room

2 Turn off the TV

3. What is your name
4

Sit down and listen
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74.

75.

76.

The instructions were clear. , many people still had

trouble following them.
Choose the option that fits the blank.

1.

2.
3.
4

I

For example
Consequently
Despite

Hence

help you with that tomorrow.

Choose the modal verb used to show future ability.

1.

2
3.
4

will
might
should

would

Choose the option that best fits the blank.

When referring to a period of time, distance, or sum of money,

use a
1.

2.
3.
4

verb
plural
dual
multiple

singular

If I had magical powers, I could change the world

Identify the type of conditional sentence:

1.

2
3.
4

Zero conditional
First conditional
Second conditional

Third conditional
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78.

79.

80.

Choose the prefix that, when added to ‘happy’ means ‘not
happy’.

1.

2.
3.
4

dis-
re-
un-

mis-

Identify the idiom that means “to understand something after a
period of confusion”.

1.

2.
3.
4

to cut corners
to get the hang of it.
to kick the bucket.

to be in hot water.

Choose the adjective that best describes the noun in the

sentence.

They visiteda  museum during their vacation.
1. hardly-boiled

2. red-faced

3. famous

4 recently

Choose the sentence with the correctly used subordinating
conjunction to indicate time.

1.

2.
3.
4

He will call you because he arrives
When you finish your work, please let me know.
I will go to the store if it is raining.

She was happy since she passed the exam.
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82.

83.

&4.

85.

Choose the sentence that is in active voice.

1.

2.
3.
4

The cake was baked by Mary.

The proposal will be reviewed by the committee.
The engineer designed the new bridge.

The letter was sent by Sarah.

Choose the one word substitute for ““ a word that has the same
meaning as another word”

1.

2.
3.
4

Antonym
Synonym
Homonym

Pronoun

Identify the first step in writing a script for a speech:

1.

2
3.
4

Writing conclusion
Creating a list of potential topics
Drafting the introduction

Researching the topic.

While writing a diary entry, the following should be focused

Detailed descriptions of events, feelings and reflections
Only factual information about the day.

Listing the tasks for the next day.

Copying from a book.

Select the example where the definite article is used before
names of rivers, seas, and mountain ranges:

l.

2
3.
4

The stars
The Thar desert
The Godavari

An Indus river.
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87.

88.

Identify the correct indirect speech:

He said, “I saw him today.”

1.

2.
3.
4

He said that he had seen him that day.
He said that he saw him today.

He said that he sees him that day.

He told me that he saw today.

Choose the sentence that correctly converts the compound
sentence into a complex sentence.

Smitha is not keeping well, yet she helps her sister out with
her household works.

1.

Although Smitha is not keeping well, she helps her
sister out with house hold works.

Smitha is not keeping well but she helps her sister with
the household works.

She helps her sister out with the house hold work,
because she is not keeping well.

Despite not keeping well, Smitha helps her sister out
with the house hold works.

Choose the correct spelling of the word:

1.

2
3.
4

briliant
brilliant
brillient

brilient
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90.

Read the following passage.

Traffic congestion and road safety are major concerns in
Indian cities, where rapid wurbanization has outpaced
infrastructure development. Poor road conditions, inadequate
traffic management, and a high rate of road accidents impact
daily life and public safety. Investing in better infrastructure
and implementing effective traffic regulations are essential for
addressing these issues.

Identify the major factor contributing to traffic congestion:

1. efficient road condition

2 rapid urbanization

3. advanced traffic management
4 low accident rates.

Read the following passage:

Traffic congestion and road safety are major concerns in
Indian cities, where rapid urbanization has outpaced
infrastructure development. Poor road conditions, inadequate
traffic management, and a high rate of road accidents impact
daily life and public safety. Investing in better infrastructure
and implementing effective traffic regulations are essential for
addressing these issues.

Addressing traffic issues requires investing in
infrastructure.

Choose the option that fits the blank.
1. outdated

2 minimal
3. temporary
4 better



Rahul saves 15% of his salary and his saving is ¥1800.He
spends 25% on daily needs. Then his total salary and amount
spent on daily needs are
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1 %10000, X3000
2. %10000, ¥4000
3. 312000, ¥4000
4 %12000, X3000

The value of Cos1°.Cos2°.Cos3"......Cos179is
Cos 1°.Cos 2°.Cos3"......Cos179° Jens

1.
2.

1
~1
0

1
V2

If x : y = 5:4 then (4x+2y): (8x+3y) is

X1y =54 0008 (4x+2y): (8x+3y) QG
1 6:13
2 7:13
3. 13:6
4 13:7



Slope of the line joining two points (0,\/5 ) and (\/5 ,0) is
0.43) 58055 (13.,0) Dosome Kom Feh Bp Ten

1
2.
3. 1
4

ABC is a triangle AD, BE and CF are the medians of triangle
ABC and P is the centroid, then which of the following is
CCTRUE”

ABC 2.5 (®gbzso, AD, BE 8050 CF e (®2heso
ABC & A3 56518 Spew 5005 P HKsiSolso
wond 308 TBS° g AO?

1. PD=2AD
3

2 BE=2BP
3

3 PF=2CF
3

4 BP=§BE

In the figure PQ//ST. If #PQR =110°
and ZRST =130°then Reflex ZQRS=
%e08° PQ//ST, ZPQR =110°58050
ZRST =130"©000& ZQRS B0¥)
VOeSES Eleasn =

1. 60°

2 240°
3. 300°
4 120°



97.

98.

99.

If a, b are twin primes, a > b and b, ¢ are twin primes, b > ¢
thena—cis

1. Perfect number
2. Prime number
3. Perfect square number

4. Odd number
a, ben 530 (S bo%@o, a>b 0803w b, cew
530 @S Dopgen, b>c wons a-c

1. DS 260335

AWM
X
[0)]
éﬁ(
3X
(I8
>X

Four angles of a nonagon are 85°, 95°, 105°, 115°. All the other
angles are equal. The measure of each of equal angles is

2.8 5529028°D areniy Eemren 85°, 95°, 105°, 115°. bADS
&ezoen @5& VSTS50. 900D V578 SFeros® wLimrd o

1. 140°
2. 196°
3. 144°
4. 172°

A, B are disjoint sets then n(A—-B) is
A, B @ Jd520E 3o @ans n(A-B) B, Jeos

. n(A)
2. n(B)
3.0
4 ¢



100. The probability of getting a perfect cube number from the
numbers started from 1to 100.

1 3008 100 585% Ko 60@5668 ROYY DS HOP§ )0

éoeyégeﬁ
L
10

2. L
15

3. L
20

4. L
25
101. 127=__
L2
99
1
90

3, 14
11

4. L

50



102.

103.

104.

A box contains 8 cards which are numbered integers

-3,-2,-1,0, 1, 2, 3 and 4 (each number on each card). If one
card is drawn at random from the box, then the percentage of
probability of getting a card containing non positive integer is

28 288" -3,-2,-1,0, 1,2,3 58 4 (25,5, 0
e Co

2 &85, o) 9 g Dopgen oAb &) 8 SThen

&T00. STER)EOT 2.8 578 VS 08 FISY J°Y oy
Ko 5°0 @Zéoswi)é Ko 00835 3°¢50

1 50

2. 40

3. 30

4 20

Factors of the expression x* —(y +z)*

xP=(y+z)t D00 Do) SeEETOSTed

[S—

(x2+(y+ 2)2) (x+y+z) (x—y—z)

(x2+(y+z) x y— z x y+z)

Sl

)(
(xz—(y+z) ) x+y z y+z)
(xz—(y+z) ) (x—y- z (x+y- z)

In the arithmetic progression the ratio of 18" and 11" terms is
3:2 then the ratio of 21% and 5" terms is

eao§[r§a%e§£ 185 08w 118 Jore EOZ%)@D 3:2 @onS 213
HOA3W 53 Jore QZ&)@O

1 3:2
2. 3:1
3. 1:3
4 2:3



105.

106.

Regular polygon having each of its exterior angle as 60°
possess the rotational symmetry of order

38 w550 60° Ko 28 (55 wIvdd Sy, (Pbe
S BOSTE0

1. 4
2. 3
3. 6
4. 12

Product of 3x,—4xy,2x*,3y”and 5x°y°.
3x,—4xy,2x%,3y° 500330 5x7y° © ©Q0
1. —-360x"y’

2 360x"y’
3. 360x°y°
4 -360x°y’



107. Assertion:

Area of a trapezium having its parallel sides of
lengths 10m, 12m and the perpendicular distance
between their parallel sides as 7m is 77m’

Reason: Area of a Trapezium is measured using the
formula A = % d,d,.(Here d,, d, are diagonals of
trapezium)

1. Assertion and Reason are true

2. Assertion is true Reason is false

3. Assertion is false, Reason is true

4. Assertion and reason both are false

Ees: DS0BE e PeEHen 10Don, 12 Don

5°8e30:

SO & 2o F&§ ©0EFTO 7o 7
Ko 2.5 (Ba8050 &@nY), Prege 77:5.20.

E22H0 JTe§Y A:%dldz. K|S0 &DBrROY
S50f0ers0. (356 di, dyed (BHRA00 STen)

L (P55 50805 5830 DO HEFSw

W

(@8&S 269550 5830 @‘éeﬁago
(@8&S @269550, 58830 269550
(P8S LB 580 VoL eﬁééago



108.

109.

Column-I

2x+3y=40; 6x+5y=10
2x+3y=40; 6x+9y =50
2x+3y=10; 4x+6y =20
SPo-1

2x+3y=40; 6x+5y=10
2x+3y=40; 6x+9y =50
2x+3y=10; 4x+6y =20
i-a, ii-b, iii-c

i-b, ii-a, iii-c

i-b, ii-c, iii-a

i-c, ii-a, iii-b

Column-II

a) Coincident lines
b) Intersecting lines
c) Parallel lines
SPO-2

a) 985203 Bpew
b) oS Bpew

c)  DS30esS Dpew

The slant height of a right circular cone of height 12cm and
radium 9cm is (in cm)

12 20.20. I OGN 9 0.0, LPTFILo FS (5
DY Fog09 By, DeoTew I (R0.20.087)

1
2
3.
4

15
21
63

J63



110. To know as to what extent the data is scattered we find

111.

112.

1.
2.
3.
4.

Median
Mode
Mean

Range

2.5 SSBP0F0 O TH IVVONVIE® BenE e
3050 BA EHFA0eT0

1.

2
3.
4

;53&5§Ke§o

2P TOFEO

The value of (1- Sin6)(1+ Sin@)(1+ tan’ 9) where 0 < 0 < 90°

0<0<90° a8 (1-Sind)(1+ Sin9)(1+ tan’ 6) &Bao%), Deoss

b=

Points (8, 1) (K, —4) and (2,-5) are collinear then value of ‘K’ is
(8, 1) (K, —4) 58350 (2,—5) Dothryen $3BPasren eand
‘K’ dens

1.

B w

-2
-3
2



113. To find the mode of a grouped data we use the formulae

Mode =/ W{AJX h, Here f,represents
2hi=t= 1

1 Lower boundary of the modal class
2 Frequency of the class succeeding the modal class
3. Frequency of the class proceeding the modal class
4. Frequency of the modal class.
SEENS SS0IINIDH LEITOFEO EHAIEIS &IBreA0I
oo — 4| ST j <
Q0 = [+ —1—=0— Ix h, 98) & f, QPD00S

¢ [2ﬁ—fo—fz b S
1. LTV SR BIHS TR
2 TETOEE SEHY S0 STXS 3"5:@550
3. LTOPE BEHB S0 SEKS i)":é::g)égo
4

BTV SEKB ISP

114. In A ABC two points D and E lie on AB and AC respectively
such that DE//BC. If % - % and AC = 4.8cm then AE=
(in cm)
AABCS® DE/BC e&ogdEorn SWdm AB 508050

AC &% Ko Dos9es D 58050 E. %:%:@am

AC =4.820.2 @008 AE &9 (0.2.08°)

1 3.6
2. 1.92
3. 12
4 3.2



115.

116.

The image of India’s first satellite ‘Aryabhata’ printed on
which currency note in 1976.

PESBHO (SBTAODS YIS EHET0 ‘esS5asey’
7550130 19766° D 53R SPewp SoBoh.

10

1.
2. 5
3.
4,

Prabha a student of class 9™, “finds the cost required to paint a
cylindrical pillar when given sufficient information’. This is
related to following objective

1. Knowledge

2. Understanding

3. Application

4. Skill

(925 @3 95 SRS IogY ‘BAS DITTE0 F)IIPE
REISB0S” &) 2.8 Koardd oKk IAEAS BSVERdy
P SROE7Y $E50S” &0t oFgo

1. 2250

=y
2. ISP
3. eaéosoﬁoo

4. é‘@s@ago



117. One of the following is not related to “VAKT’ approach.

1. Visual

2. Knowledge
3. Auditory
4. Tatik

808 TIS* VAKT’ &555°08 0023050 5208
L Sy (dersd)

2. S (:8g)

3. \¥5e0 (e38¢28)

4. 3§

118. Tools for teaching geometry easily
a) Geo-board
b) Peg-board
c) Napier-board
1. (a) and (c)
2. (b) and (¢)
3. (a) and (b)
4. (a), (c) and (b)
A oYM FHOBEAE SHODS &DETe0

a) S

b)  DRSG

c)  Fwond &§
1. (a) $5805 (c)

2. (b) 865 (c)
3. (a) 528050 (b)
4. (a), (c) 520050 (b)



119. “It would be useful to start mathematics clubs in the schools.
Variety of activities can be organized in the mathematics
club”. This recommendation was made by

“TETOS Ke3S HORTOD (FTODOLE GHRPKETED.
AS” DIF B0 EEgoRd A0S IN)". s DI
B1IB.

1. NCF-2005

2. Kothari Commission (1964-66)

3. NPC-1986

4. PoA, 1992
120. Limitations of ‘Synthetic method’

a) Steps have to be blindly followed

b) Involves less Homework

c) Encourages byhearting

d) Doesn’t provide complete awareness of the topic

0ZAer DEY” HOWSoen

a) Froos H& 300 &oenod.

b) 3083 DA S I &0e0d.

c)  EoB0 Boberd) (FS08.

d) DAT0 D) DOY"Y, SIS STAloInIn)
1 a,b,c
2. b, c,d
3. a,c,d
4 a,b,d



121. From the graph, velocity at t =4s is
FRRES (PSS° t=4s 3¢ IK0

4 m/s v(rP/s)
2. 0
5
3 im/s
4
4. %m/s o 4 >1(s)

122. A ball thrown vertically upwards with a velocity of 14m/s, the
maximum height reached by it is (take g=9.8m/s?)

1. &m
7

2. 10 m

3. 0

4, lm
10

14 0/ SK0SE" 28 2008 AYILOI™ 28 1O JcLwcSo.
©d D83 KoY Jef (g=9.82/> m &&’od)

1. 931;
7

2. 10 2

3 0

. Lo



123.

124.

125.

The repeated reflection that results in the persistence of sound
is called

1. Echo

2. Reverberation

3. Resonance

4. Propagation

DOOITEY DOPSTFO S0 FPABCDDES GG
1. (DO

(RBI°E0

IO

SIS

(Wso

In a biconvex lens, if the object distance (u) is equal to image
distance, then the focal length of lens (f) is

2.8 B0 E S50 SEro (u) (P80 Eroedd
DIFSHS S6F IogIgos8H0 (f) e

u
Loor=3
2. f=2u
3. f=0
4. f=2

u

Resistivity: QO m :: conductivity :

&%S5Ees : Qm FIPESGO

1. Q/m
7 e
Qm
3 m/Q
4, L
Q



126. The component not related to a generator among the
following is

1. Slip rings

2. Battery

3. Resistor

4. Half split rings

80BTAS® 25068 5 502308035 @0¥0

1. 2D Boxoen
(qp]

2. 23@5@6

3. &850

4. S} ?om)eﬁ Boxren

127.  On the basis of reactivity the odd one from the following

1. Potassium
2. Aluminum
3. Platinum
4. Calcium

SorgBod ertor ($o8 >AS° DRSO
1. PETPACI0

@RI IA0

P50

WD

5290300
o\



128.

129.

CyHj n10 : Alkane : : C,Hppyg :

1. Alkyl

2. Alkene

3. Paraffin

4. Alkyne

CoHy pio 1 &8)&0 1 1 CoHoppe
1. 86&5

2. @@bs

3. oS

4. ei@qz_)_g

Evaporation of a liquid takes place

1. at the temperature above its boiling point
2. at the temperature below its boiling point
3. at the temperature above its melting point
4. at the temperature below its melting point

(G550 araaisso SoB8

L o gr)ess S0 508 dBys G 5
2. o PSS 0 Ko $H)S GRS 58
3. oD (BAWSS F0 508 S SPNS 5

4. oD (BIYSS PO K08 S I SPAS 5



130.

131.

“nl"” methed is used to write electronic configuration of atoms
of elements. Here ‘x’ stands for

1.
2.
3.
4.

Principle quantum number
Subshell
Number of electrons

Spin of electrons

NI DEBY JorE DESTENIO JVTR TG0 (TGS
EDBEAFE. 30HS° X A “TAN08.

1.

e N

(DTS SO0 HDowg
é:aécfo)cio

QOIS bozp§
Q@@g eﬁé&@;ﬁomo

Assertion (A): Teflon is used for non-stick coating on cook

warcs.

Reason (R):  Teflon is a special plastic on which oil and

1.
2.
3

4.

water can stick

Both A & R incorrect

Both A & R correct and ‘R’ is the correct explanation of ‘A’
Both A & R correct and ‘R’ is not correct explanation of ‘A’

‘A’ correct but ‘R’ incorrect

(B50S (A): Soes PG eTEIorTen 090808 H0E T

TS I00EAY BT TES .

830 (R): 8L &30 573, DB 90ENEI @8§§ T8

1.
2.
3.

A 558050 REBID 529

A 558050 R3S 50850 R’ A’ % ¥385 588

A 55805 R8BI 500050 ‘R’ ‘A’ % 8BS 58es 5o
‘A’ DSBS R IBIO 50



132. A wet blue coloured litmus paper brought near dry gas of
hydrogen chloride. The correct observation is

133.

1.

No change in the colour of litmus.

2. Litmus becomes colourless.

3. Litmus turns to Red.

4. The gas turns to blue.

SE™ &F) WO O] SASo™ FEP &) TS BS §6
TP SHEH BRE orxdod. BIF $0220800 BBS
YeLISh

L 9T B0iE 5ty &0,

e N

@@&5 50K ?é’beﬁ)o&.
@@&5 B FOKIT SIS0,
TS50 DOBOKIE ST,

Find the incorrect statement

Ll

Chromosomes are composed of DNA and proteins.
The DNA is seen only in the nucleus of cell.
Functional segments of DNA are genes.

The undefined nuclear region in bacteria, only with
nucleic acids is nucleoid.

808 TAS® KOS FEGO $ Y008

1.
2.
3.

§° 300 DNA 50050 (PSS D0 aren.
58308°)) Bo(E350S° Sv(83> DNA &0e008.
DNA 8% ($a5e)§ darrmen sigden.

2§0057S° SolEs0 SOR &od B DEYER SolEss
(080 Sr8&@roné.



134.

135

The organism having closed type of circulatory system is

éoéo)eﬁ

1
2
3.
4

1.

BN

Octopus

Jellyfish

Snail

Butterfly

BYD0Ter SgIH FOAS £

®
03, L

oM

2

a

o0 €

2
3

(IS

S EDens

The plant that produce Bio-diesel is

1.

2
3.
4

Hevea brazilensis
Parthenium
Acacia

Jatropa

2BreRS &8 Do 0%,

1.

2.

A% BAOSONT
8330
()
950553&
23@58;6



136. The animal that have blowhole on their head to breath is

137.

1.
2.
3.
4.

Fish
Dolphin
Octopus
Squid

MO DI, S0 P GKoS FAVTOEo Ko &

1.

e N

=%
c5°®b)5
ea%b%

?‘3&55

The best house keeping practice is

1.
2.
3.
4.

Throw the oils and fats in drainage.
Throw the used tea leaves in dustbin.
Throw the sanitary pads in empty lands.

Throw the paints and insecticides in the sinks.

$0BTIS” RS 3083 Arer HES

1.
2.
3.

SOOITIe0 HOGI (O™ SHSUNOMINISW I

TES & sHO BFQS® Daird.

T8 &35 g (P T DEIasrd.

?ooaooe% 558050 DK 5H0808 DoES0EH IA3F.



138.

139.

The organism that transmits the Dengue is

1. Culex mosquito

2. Aedes mosquito

3. Anophelese mosquito
4. Tsetse fly

GOy TR g Baso 2D

1. @565(\) &%

2. A& &%

Match the following

A) Macrobrachium rosenbergii
B) Peneaus monodon

C) Mrigal

D) Bhetki

808 A weSHBYosk

A) sr(Eerdab =S B8
B) Ha9H% IrS*es

1 A-ii, B-i, C-iv, D-iii
2 A-iii, B-ii, C-1, D-iv
3. A-ii, B-iv, C-i, D-iii
4 A-iii, B-1, C-iv, D-ii

1) Fresh water fish
i) Fresh water prawn
ii1) Marine water fish

iv) Marine water prawn

i) 50D T

ii) 500D &"aog
1) D30y DD
V) 930(E5% E°asg



140. Identify the plants with reticulate venation

A)  Wheat

B) Mango

@) Maize

D) Bean

1. A and D
2. A and B
3. Band C
4. B and D
TOST B4 A0 SOAS JoK) 0 Kr0506.
A)  R%

B) S é

C) oy & )
D) Q%8

1. A 3850 D
A 30as0 B
B 08 C

> » b

B S08a0 D



141. Read the statements and answer the following
Statement (P):  The Tannins, Latex and Resins are the primary
metabolites in plants.
Statement (Q): Some plants secrete chemicals to seal
wounds and recover from injury.

1 P and Q both are true

2. P and Q both are false

3 P is true; Q is false

4. P is false; Q is true

L8 S0 58, $08 mIenot K90B0s.

B35S0 (P): @A, BBE) 508050 TdSew Iy o’
(TS A &SI

BS530 (Q): FY Iy en Masrems 5ordSd T2
So5)erAE B AHT O (RPITAD.

1. P 30850 QBoe ééago
P S508a030 Q3o &9269550

P éeﬁso; Q @269550

Sl

P @269550; Q ‘éeféago
142. The breaking of seed dormancy and stimulation of flowering
are controlled by
1. Auxin
2. Abscisic acid
3. Gibberellins
4. Cytokinins
BT HLIHE FOROBEO $08AO HA)OBEOD
(382035 Aeo(@oHIE
1. 63%5
2. ofpdE edo
3. 2289w
4. 2E308ew



143.

144.

“In successive generations individuals of the same species
have the same number of chromosomes”. This was first
hypothesized by

1. August Weismann
2. Walther Flemming
3. Gregor Mendel
4. Wilhelm Roux

“SE% S0°0S 28 2@ AYeo 2.8 vopgd (SRrF 0o
SOR &0eTa.” 9 IS T DOT)S B3SO,

L eng RS
98 20k
e (3p]

BRKE BosS

e N

3&&5& 5"’%

Genetic drift means
1. Change in the frequency of genes in small population.
2. Change in the frequency of genes in large population.

3. Change in the DNA of large population to form new
species.

4. Change in the Cytoplasm of small population to form
new species.

23(655 333;13(60 ST

1. D) N RAON eﬁ§f’o&§om B3§HO 25":6:?.”9):55068
5OR S

2. Bl TN ANION e5§?o&§ozr° CRVWIS 3"53‘@:650656
5OR )

3.0 28 aTerS £ ardo 5)Ses DNA &
SOR S

4. DY) aTarS’ §E e YTSHHH E5Hrgod”
SOR S



145. The chemical that should be store in dark coffee colour glass

bottle is
1. Barium chloride
2. Potassium Carbonate

3. Bismuth Salts
4. Ferrous Salphate
PRYSOMT S0EHW T B Tae SFSS Jens BALSODS

EIP A0S0

. 2davo §8E

2. eradHo sENIE
3. A0S oSeren

4. R éé?geg

146. As part of teaching learning of a lesson “Solar family”, each
student played a role of one planet. According to ‘Edgar Dale’
the experiences gained by the students is

1. Model experiences

2. Demonstration experiences
3. Dramatized experiences

4. Direct beneficial experiences

“RE§ HHe0020” 9D il“@agor‘éo B0, 586@25535655
arron 287 8); Z)wl’agg 2.8 8 Ko TS0 FR0T.
SRS (9580 He IR0 FOBS eeITren

1. Q0T I° €930 83T
@656?}:6 £9:308353°0

e &85 £9:308353°0

W

@é&% @cﬁr&&?ég 293083 3°0



147.

148.

By looking at the formulae CaCO3, a student said the number
of elements in it, their number, atomic weights, molecular
weights and oxidation numbers. The academic standard he
achieved here is

1. Knowledge

2. Understanding

3. Analysis

4. Evaluation

‘28 g8 CaCO3 & o> wS3d IS Sorosees,

T D0Pg, HEITEN GO, VEW LT, eﬁébéé\s ROPgO
Bbo)xé)mc‘éo” - 98830 FPHOVS 3)@5 0550

1. 2250
=y
2. (INTanoein
3. DFAE?
(qp]
4, ;5a5°e7°50§:6o

When comparing the structure of science to the structure of
building, this part of science is comparable to the vertical
columns of a building

1. Generalisations
2. Concepts

3. Theories

4. Processes

LIPS, Ao YeTRY) WSS S@&moé’s PO, 235506
Qo0 Koo FOYSAS JapSe(y &Ko

1. $°;55°§’)§§68§°@o

2. 2055

3. DO
[on]

4. D écoen



149.

150.

Raghu used a chart showing components of food, their types,
sources, health benefits to teach the lesson “components of
food”. The chart used by him is a

1. Stream chart

2. Tree chart

3. Organizational chart
4. Process chart

BP0 “es38506° eoen” e 0T AN AT LS
e5385085° o, T TSew, OO DEgen, ey o
508 WOFOD BIVOT TR GIBFACTE. S
&EIBrRONS T8 &8

A ]

2. So¥syg g

3. SESLSED T°§
4. S G

“A textbook is a printed form of basic instructional material
used in the class room” — quoted by

1. Simpson

2. Hunter

3. Louis B. Vogel
4. Cunningham

"G VRO WIO $BS ErHod” &od SSKS KBS’
EIBTAOT SDE FEITHEGE0” @ BH)IO

1. ROYS

2. Sroexd

3.  erond D SRS
4. EPOR



